A B3R A0
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©el: YRS IHXFE (ctel @
. 4
SN SAEA) - MEAY - BES 0l &k o e SmEET
EotF AL 36,754,096 31,112,339 5,641,757
= 20,159,292
J| 2,067,886
= 14,526,918
223 A 2 2 HAMIA(2aE22 /20 s) 2,007,750 1,639,050 368,700
J| 10,000
= 1,997,750
22 IIXNEE 938,000 752,550 185,450
e MAZE 938,000 752,550 185,450
201 24| 150,000 150,000 0
01 At 22l bl 150,000 150,000 0
OZ3 T A HE 150,000
202 04l 3,000 2,550 450
01 =LHA HI 3,000 2,550 450
oS AAZY ALEH 3,000
308 MHXEHSOIA 665,000 600,000 65,000
01 HXSHILAEXS 665,000 600,000 65,000
O8= 0/0] 8 150,000
Oftoll BtE2 HdF 150,000
02y sl ek 60,000
023 AMM HdY 50,000
oOso Olss & 50,000
Oust ol ok 25,000
OH4sE olxs 4 25,000
O0E & det 20,000
OF2 Xh&tah dek 25,000
OFs dx d& 50,000
Oud sl & FGAS 60,000
403 XM S0l H 120,000 0 120,000
01 XX EH 2= 120,000 0 120,000
OZ3A IZstkz =10 44 X 120,000
HEEs g=2=4d 1,069,750 886,500 183,250
J| 10,000
= 1,059,750
dsSelxs 23 g4t 862,650 787,400 75,250
202 o4l 3,400 3,400 0
01 =LA Bl 3,400 3,400 0
oMERs 23 24835 FA 3,400
307 I2tOo1 A 237,750 284,500 A 46,750
02 It A AMPE X 237,750 284,500 246,750
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SN 2SR
HE: 2sR40 HAN BE - MS(SHADH/2E)
S 2HRMC B BE - 7S (el &
% 5 SIE|
SH-BH S (BH) - HRAMY - BLS 01l &k o i HlnE2
308 XHXI €+ S 0 & 645,700 668,350 £22,650
01 HXSHILEED 645,700 668,350 £22,650
O PE2IM H53 508,200
OYE woH BES Hs N 24,000
OYE =% PEF H X 24,000
OsH +8M 2ES Hs N 24,000
O 22T 65,500
SN 2 50,500 42,050 8,450
201 Yer2 | 45,000 36.550 8,450
01 AR 22l 45,000 36,550 8,450
CELVEET! 45,000
202 01t 5,500 5,500 0
01 2U4 o1 bl 5,500 5,500 0
CELER = 5,500
ST 422N 14,000 14,000 0
201 LBt 2 bl 14,000 14,000 0
01 At 22l 14,000 14,000 0
o2 22 14,000
S5 SEAY (2D 2,020,000 1,722,940 297,060
o] 1,010,000
= 1,010,000
307 21210 & 2,020,000 1,722,940 297,060
J| 1,010,000
= 1,010,000
IV 2,020,000 1,722,940 297,060
OS5 SEAY 2,020,000
| 1,010,000
= 1,010,000
NSRS D5 30,000 30,000 0
308 XIXIEHH S0 30,000 30,000 0
IR EEYEPEES 30,000 30,000 0
L 30,000
MR STl 200,000 200,000 0
307 212H0| & 200,000 200,000 0
02 QI+ & ALY 200,000 200,000 0
oMz MR 200,000
SR ANV 278,338 500,000 ~221,662
307 2121 0] & 278,338 500,000 ~221,662
02 QLA MAL X 278,338 500,000 £221,662
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2N 2o A0
A 2RMO HAHAN B M5 (2L /23M)
©@He: S MESs £ FHEFUI (cte: &
2 - 4 14
SN EH.C(EH) - MBAY - BAS Ol & o8 e Hlm=s2
= 3,987,517
403 XX EHHMSA201 A 20,831,703 14,300,071 6,531,632
2 16,844,186
T 3,987,517
01 XISHX=2E X 20,831,703 14,300,071 6,531,632
O=JINE =23 M 243l 20,831,703
=2 16,844, 186
= 3,987,517
HSEAE 243U (21) 1,036,500 600,000 436,500
2 691,000
& 345,500
403 XX XS K201 & 1,036,500 600,000 436,500
= 691,000
& 345,500
01 MXSHA=2E xR 1,036,500 600,000 436,500
ONSANE E=FHI 1,036,500
= 691,000
= 345,500
HEE2SMW REXNYE 38 D3H(=2 170,000 0 170,000
= 140,000
= 30,000
308 AtXI S SOl A™ 170,000 0 170,000
= 140,000
= 30,000
01 AXESHMBAEXEZ 170,000 0 170,000
OME23M =X 8 170,000
= 140,000
= 30,000
Sapa BEAY 22 S8 X 2,820,629 2,675,535 145,094
= 1,929,000
J| 20,450
& 871,179
2RSS Moz (=D) 100,000 100,000 0
=2 100,000
308 AHXl & XS0l & 100,000 100,000 0
= 100,000
01 HXESHMBAEEZ 100,000 100,000 0
O=L 23 M at2el 100,000
= 100,000
23N g8 24+AY XN (=21D) 978,750 859,850 118,900
= 675,000
& 303,750
308 AHXI & X S0l A 978,750 859, 850 118,900
= 675,000
& 303,750
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for lor for

MO0 [HD HO

=
P

2

moH

978,750

978,750

675,000
303,750

859, 850

ik
0o
Q
W
kJ

Mo

691,650

477,000
214,650

511,850

179,800

MW

691,650

477,000
214,650

511,850

179,800

M H

691,650

691,650

477,000
214,650

511,850

179,800

S

H

23,079

20,450
2,629

24,885

A 1,806

X

23,079

20,450
2,629

24,885

A 1,806

mn X

23,079

23,079

20,450
2,629

24,885

A 1,806

Mo

729,350

503,000
226,350

777,200

A47,850

oo

729,350

503,000
226,350

777,200

A47,850

01 XM &
O3t OF& (&R1T)At

m i

729,350

729,350

503,000
226,350

777,200

A47,850

moH

140,650

97,000
43,650

185,600

A44,950

oW

140,650

97,000
43,650

185,600

A 44,950

m
Pall
o
0
T
v
it

©
il
O
rx
>_
M0
P
Nl
01
Q

tol

o

140,650

140,650

97,000
43,650

185,600

A44,950

kJ
10
O
»
™
o

~

111,650

110,200

1,450
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SA: 2seaD
M 2oL MAHAH BE
Cel 2sins BRAY o ool H
. 4
M- E= - 22 (3H) - HRAY Ofl b i 52
= 77,000
= 34,650
308 XXM SO0l & 111,650 110,200 1,450
= 77,000
< 34,650
01 HXSHBILAEXS 111,650 110,200 1,450
OLNE - B3 EZA 111,650
= 77,000
= 34,650
FoRL EEAY €2 5,500 7,950 A 2,450
201 Lt F Y| 4,000 5,950 21,950
01 At 22l bl 4,000 5,950 21,950
o=zl 28 22 =2 4,000
202 04l 1,500 2,000 A 500
01 =2 LHA BI 1,500 2,000 A 500
OFstM EE A = 1,500
= 3 O ALY 40,000 0 40,000
308 A EHSOIA 40,000 0 40,000
01 HXESHILAEXS 40,000 0 40,000
O3 23T ZF OF 40,000
Esrs ds 2 W28 X 773,818 2,856,479 A2,082,661
= 146,106
J| 20,000
= 607,712
> N2 2435 N (F2) 88,450 117,450 A 29,000
= 61,000
< 27,450
308 UHtXIEH S0 88,450 117,450 A 29,000
= 61,000
< 27,450
01 HXESHBILAEXS 88,450 117,450 229,000
OduNEsZ 43 X 88,450
= 61,000
= 27,450
iXse dxns2t 24 20,000 0 20,000
308 UXIEHSOIA 20,000 0 20,000
O1 X SHBHEEXS 20,000 0 20,000
OXNls dx=u= 20,000
SSHM ot B Hul(=12) 71,088 96,793 A 25,705
= 58,706
< 12,382
403 AXIHMSA=0lA 71,088 96,793 A 25,705
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A B3R A0
FH: 2R AN B& - - WS (2L 2Z/2HM)
Gl 2594 Hs Y DS - EL X (ool @
2 5 4 14
SN FH-S(BH) - MRAY - B Ol &k o8 e s
= 58,706
= 12,382
01 XIS EEE 71,088 96,793 AN 25,705
Z St CHLHEF A Y] 71,088
= 58,706
= 12,382
NAZSRA NE AE(=1) 26,000 48,750 A 22,750
| 20,000
= 6,000
308 AUXIEHSOIA 26,000 48,750 A 22,750
| 20,000
= 6,000
O1 X ESHHBHEXS 26,000 48,750 222,750
OXNAEZatza s ALY 26,000
| 20,000
= 6,000
LHEHISMN druEe2 2IU=LSA BIXI(Z2) 38,280 38,280 0
= 26,400
< 11,880
308 X EHSOIA 38,280 38,280 0
= 26,400
= 11,880
01 AXEHBAEXS 38,280 38,280 0
OFEEaM dxnus2 U= A BHX 38,280
= 26,400
= 11,880
SUAD HEtel=2 tHEH 30,000 45,000 A 15,000
308 XXIEM SO0l 30,000 45,000 A 15,000
01 AXEHBAEEES 30,000 45,000 A 15,000
ORUAZD HEel= =AM 30,000
oF LHAAN EIEAHO M2 A (2 IHEEXR) 500,000 300,000 200,000
403 XSS X201 H 500,000 300,000 200,000
01 XXX 2= 500,000 300,000 200,000
O SHAbAH HISAHO d82 HE 500,000
oM 25 & MWLM Ak 25 1,855,634 2,001,270 A 145,636
= 309,000
J| 1,007,436
& 539,198
HEME LTAIAE SAES(=1) 239,200 209,300 29,900
= 184,000
& 55,200
308 X EHSOIA 239,200 209, 300 29,900
= 184,000
& 55,200
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A B3R A0
FH: 2R AN B& - - WS (2L 2Z/2HM)
& 23 25 & WHoHetd A A3 (ctel &
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e s
01 AXEHBAEES 239,200 209,300 29,900
OXSAE LAILE FRNE= 239,200
= 184,000
= 55,200
HEANE SMALAE 2= (21) 187,500 72,000 115,500
= 125,000
= 62,500
403 XSS 201 H 187,500 72,000 115,500
= 125,000
= 62,500
01 AtXISM A28 187,500 72,000 115,500
OHSAE LAIAE 5 187,500
= 125,000
< 62,500
FotRAo MAHR EZ=FHI 196,000 280,000 284,000
402 RIZEXt20l A 196,000 280,000 284,000
01 QIZEX 2 A S = (KM THE ) 196,000 280,000 A 84,000
O©loTIIBt 23t o™ 2Zte| AlAE 2= 196,000
S orMEHI Y X ¥ EE(=21) 650,420 650,420 0
| 500,323
< 150,097
308 XXM SO0l & 650,420 650,420 0
| 500,323
< 150,097
01 AXEHBAEES 650,420 650,420 0
O3 oM FHIA BiXl & &2 650,420
| 500,323
= 150,097
2 HHSXAIE el A (21) 187,929 173,800 14,129
| 166,519
& 21,410
308 XXM SO0l & 187,929 173,800 14,129
| 166,519
= 21,410
01 HXESHBILAEXS 187,929 173,800 14,129
OZstM MeEXAE sXl2el XA 187,929
J| 166,519
< 21,410
ST oTAIAE R2H(=21) 197,500 0 197,500
J| 175,000
= 22,500
403 XSS 201 ™ 197,500 0 197,500
| 175,000
= 22,500
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A B3R A0
Ha: 23R4 HHAX BE HS(2LTZ/S5T)
Sl RS 25 Y MHE o 25 CEEREE
% 5 SIE|
SH-BH S (BH) - HRAMY - BLS 01l &k o i HlnE2
01 XX EHH A2 2= 197,500 0 197,500
O23T L loTAIAE 2= 197,500
J| 175,000
= 22,500
25 HHSRAIE 25(=21) 197,085 615,750 A 418,665
J| 165,594
= 31,491
403 XSS 201 H 197,085 615,750 A 418,665
J| 165,594
= 31,491
01 RXIEXMA2E = 197,085 615,750 A 418,665
O M MHEIAE 2= 197,085
J| 165,594
< 31,491
HE 2L ZH (234D (JIEH/IIE) 30,294 30,294 0
JlE3dl 30,294 30,294 0
FHAEE I3l 30,294 30,294 0
201 24| 21,222 21,222 0
01 At 22l 21,222 21,222 0
ORN2Y JI=Al 21,222
202 o4l 5,472 5,472 0
01 =LA HI 5,472 5,472 0
Shed J=Zy 5,472
203 YR =&l 3,600 3,600 0
04 FN2EHRZ=TH| 3,600 3,600 0
©202! Ol ot 300,000& »12& 3,600
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